ISTR - 961/ 00

Kit supporto top case - 96781251A
Top case support kit - 96781251A

Simbologia

Per una lettura rapida e razionale sono stati impiegati simboli che
evidenziano situazioni di massima attenzione, consigli pratici o
semplici informazioni. Prestare molta attenzione al significato dei
simboli, in quanto la loro funzione e quella di non dovere ripete-
re concetti tecnici o avvertenze di sicurezza. Sono da considerare,
quindi, dei veri e propri “promemoria“. Consultare questa pagina
ogni volta che sorgeranno dubbi sul loro significato.

m Attenzione

La non osservanza delle istruzioni riportate puo creare una situa-
zione di pericolo e causare gravi lesioni personali e anche la morte.

n Importante

Indica la possibilita di arrecare danno al veicolo e/o ai suoi compo-
nenti se le istruzioni riportate non vengono eseguite.

@ Note

Fornisce utili informazioni sull'operazione in corso.
Riferimenti

| particolari evidenziati in grigio e riferimento numerico (Es. @)
rappresentano l'accessorio da installare e gli eventuali componenti
di montaggio forniti a kit.

| particolari con riferimento alfabetico (Es. @) rappresentano i
componenti originali presenti sul motoveicolo.

Tutte le indicazioni destro o sinistro si riferiscono al senso di marcia
del motociclo.

Avvertenze generali

m Attenzione

Le operazioni riportate nelle pagine seqguenti devono essere ese-
guite da un tecnico specializzato o da un'officina autorizzata Du-
cati.

m Attenzione

Le operazioni riportate nelle pagine seguenti se non eseguite a re-
gola d'arte possono pregiudicare la sicurezza del pilota.

@ Note

Documentazione necessaria per eseguire il montaggio del Kit & il
Manuale Officina, relativo al modello di moto in vostro possesso.

@ Note

Nel caso fosse necessaria la sostituzione di un componente del kit
consultare la tavola ricambi allegata.

Symbols

To allow quick and easy consultation, this manual uses graph-
ic symbols to highlight situations in which maximum care is re-
quired, as well as practical advice or information. Pay attention to
the meaning of the symbols since they serve to avoid repeating
technical concepts or safety warnings throughout the text. The
symbols should therefore be seen as real reminders. Please refer
to this page whenever in doubt as to their meaning.

m Warning

Failure to follow these instructions might give raise to a dangerous
situation and provoke severe personal injuries or even death.

n Caution

Failure to follow these instructions might cause damages to the
vehicle and/or its components.

@ Notes

Useful information on the procedure being described.
References

Parts highlighted in grey and with a numeric reference (Example
) are the accessory to be installed and any assembly compo-
nents supplied with the kit.

Parts with an alphabetic reference (Example @) are the original
components fitted on the vehicle.

Any right- or left-hand indication refers to the vehicle direction of
travel.

General notes

m Warning

Carefully perform the operations on the following pages since they
might negatively affect rider safety.

m Warning

Carefully perform the operations on the following pages since they
might negatively affect rider safety.

@ Notes

The following documents are necessary for assembling the Kit:
Workshop Manual of your bike model.

@ Notes

Should it be necessary to change any kit parts, please refer to the
attached spare part table.

m Warning

Operating, servicing and maintaining a passenger vehicle or
off-highway motor vehicle can expose you to chemicals including
engine exhaust, carbon monoxide, phthalates, and lead, which are
known to the State of California to cause cancer and birth defects
or other reproductive harm. To minimize exposure, avoid breath-
ing exhaust, do not idle the engine except as necessary, service
your vehicle in a well-ventilated area and wear gloves or wash your
hands frequently when servicing your vehicle. For more informa-
tion go to www.P65Warnings.ca.gov/passenger-vehicle.

DUCATI

PERFORMANLCE




ISTR 961/ 00

DUCATI

PERFORMANLCE



Attenzione
I

peso massimo trasportabile del portapacchi e di 5 Kg (11 lb). Nel
caso si ecceda il peso consigliato si rischia la rottura del portapac-
chi stesso. Questo puo influire negativamente sulla sicurezza del
pilota.

m Attenzione

Il mancato rispetto dei limiti di carico potrebbe influenzare nega-
tivamente la maneggevolezza e la resa del vostro motoveicolo e
potrebbe causarne la perdita di controllo.

ISTR 961/ 00

Warning

Luggage rack max. loading capacity is 5 Kg (11 lb). Should this
weight be exceeded, luggage rack could break. This can affect rid-
er's safety.

m Warning

Failure to observe weight limits could result in poor handling and
impair the performance of your motorcycle, and you may lose con-
trol of the motorcycle.

m Denominazione Description

1 Supporto top case destro
2 Supporto top case sinistro
3 Piastra portapacchi

4 Dado M6

5 Vite TSPEI M6x14

6 Puntone inferiore destro
7 Puntone inferiore sinistro
8 Tampone in gomma

9 Tappo

10  Tappo

i Vite TBEIF M10x45

12 Distanziale

13 Dado M10

14 Vite TCEIF M8x16

15 Vite TBEI M8x18

16 Dado M8

17 Vite TCEI M8x35

18  Rosetta

19  Distanziale con collare
20  Staffa aggancio anteriore
21 Vite TSPEI M6x20

RH top case support
LH top case support
Luggage rack plate
Nut M6

TSPEI screw Méx14
Lower RH lug

Lower LH lug
Rubber buffer

Plug

Plug

TBEIF M10x45 screw
Spacer

M10 nut

TCEIF screw M8x16
TBEI M8x18 screw
Nut M8

TCEIl M8x35 screw
Washer

Spacer with collar
Front coupling bracket
TSPEI screw M6x20

DUCATI

PERFORMANLCE



ISTR 961/ 00

Smontaggio componenti originali

m Attenzione

Il motore e le parti del sistema di scarico diventano molto calde
con l'uso della motocicletta, e rimangono calde ancora per lungo
tempo dopo aver fatto funzionare il motore. Per manipolare que-
ste parti usare dei guanti anticalore, o attendere che si siano ben
raffreddate.

m Attenzione

L'impianto di scarico pud essere caldo, anche dopo lo spegnimento
del motore; prestare molta attenzione a non toccare con nessuna
parte del corpo l'impianto di scarico e a non parcheggiare il veico-
lo in prossimita di materiali infiammabili (compreso legno, foglie,
ecc.).

Smontaggio gruppo silenziatori

Allentare la fascetta (B). Svitare le n.4 viti (A1) e rimuovere i n.4
distanziali con collare (A2). Smontare il gruppo silenziatori (A). Ri-
muovere e recuperare dal gruppo silenziatori (A) i n.4 gommini an-
tivibranti (A3).

Removing the original components

m Warning

The engine and exhaust parts become hot when the motorcycle
engine is running and will stay hot for some time after the engine
has been stopped. Wear heat-resistant gloves before handling
these components or allow the engine and exhaust system to cool
down before proceeding.

m Warning

The exhaust system might be hot, even after engine is switched
OFF; pay particular attention not to touch exhaust system with
any body part and do not park the motorcycle next to inflammable
material (wood, leaves etc.).

Removing the silencer unit

Loosen clamp (B). Loosen no.4 screws (A1) and remove no.4 spac-
ers with collar (A2). Remove silencer unit (A). Remove and recover
from the silencer unit (A) the 4 vibration dampers (A3).

DUCATI

PERFORMANLCE



ISTR 961/ 00

Smontaggio sella

Introdurre la chiave nella serratura (C), ruotarla in senso orario e
contemporaneamente premere verso il basso in prossimita del
chiavistello per agevolare lo sgancio del piolo. Sfilare la sella (D)
dai fermi anteriori tirandola all'indietro.

Seat disassembly

Insert the key in the lock (C), turn the key clockwise and simulta-
neously press downward in the area of the latch to release the pin.
Pull the seat (D) backwards to release it from the front retainers.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Smontaggio gruppo portatarga Removing the number plate holder unit

Per la procedura di smontaggio del gruppo portatarga (E) fare ri-  To remove number plate holder unit (E) refer to the instructions on
ferimento a quanto riportato sul manuale officina alla sezione  the workshop manual under section “Removing the number plate
“Smontaggio portatarga”. holder”.

Rimuovere i n.2 tappi (F) e svitare le n.2 viti (G) dalla staffa poste-  Remove the 2 plugs (F) and loosen the 2 screws (G) from the rear
riore (H). bracket (H).

6 DUCATI

PERFORMANLCE



ISTR 961/ 00

Montaggio componenti kit

n Importante

Verificare, prima del montaggio, che tutti i componenti risultino
puliti e in perfetto stato. Adottare tutte le precauzioni necessarie
per evitare di danneggiare qualsiasi parte nella quale ci si trova ad
operare.

Premontaggio tappi supporto portapacchi

Introdurre il tappo (10) sul supporto portapacchi destro (1), come
mostrato in figura. Ripetere la stessa operazione sul supporto por-
tapacchi sinistro (2).

Kit installation

n Caution

Check that all components are clean and in perfect condition be-
fore installation. Adopt any precaution necessary to avoid damag-
es to any part of the motorcycle you are working on.

Pre-fit the luggage rack support plugs

Fit plug (10) on luggage rack RH support (1), as shown in the figure.
Repeat the same procedure for luggage rack LH support (2).

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montaggio supporto portapacchi destro

Operando sul lato destro del motoveicolo, posizionare il supporto
portapacchi destro (1) in corrispondenza delle forature al di sotto
del telaietto posteriore destro (L) e impuntare senza serrare la vite
(14). Posizionare il distanziale (12) in corrispondenza del foro po-
steriore del supporto portapacchi destro (1), interponendolo tra il
telaietto posteriore destro (L) e il supporto portapacchi destro (1)
stesso. Impuntare la vite (11), dal lato opposto, avvitare il dado (13)
sul filetto della vite (11).

Montaggio supporto portapacchi sinistro

Operando sul lato sinistro del motoveicolo, posizionare il supporto
portapacchi sinistro (2) in corrispondenza delle forature al di sotto
del telaietto posteriore sinistro (M) e impuntare senza serrare la
vite (14). Posizionare il distanziale (12) in corrispondenza del foro
posteriore del supporto portapacchi sinistro (2), interponendolo tra
il telaietto posteriore sinistro (M) e il supporto portapacchi sinistro
(2) stesso. Impuntare la vite (11), dal lato opposto, avvitare il dado
(13) sul filetto della vite (11).

Luggage rack RH support assembly

Working on vehicle right side, position the luggage rack RH sup-
port (1) on the holes under rear subframe (L) and start the screw
(14) without tightening. Position the spacer (12) at the rear hole of
the luggage rack RH support (1) by placing it between the rear RH
subframe (L) and the luggage rack RH support (1). Start the screw
(11), on the opposite side, tighten nut (13) on screw (11) thread.

Luggage rack LH support assembly

Working on vehicle left side, position luggage rack LH support
(2) on the holes under rear LH subframe (M) and start screw (14)
without tightening. Position the spacer (12) at the rear hole of the
luggage rack LH support (2) by placing it between the rear LH sub-
frame (L) and the luggage rack LH support (2). Start the screw (11),
on the opposite side, tighten nut (13) on screw (11) thread.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montaggio piastra portapacchi

Premontare i n.4 tamponi (8) e i n.2 tappi (9) sulla piastra
portapacchi (3), come mostrato in figura. Posizionare la piastra (3)
sul supporto portapacchi destro (1) e sinistro (2) e impuntare le
n.6 viti (5). Posizionare la staffa (20) sulla piastra portapacchi (3)
e impuntare le n.2 viti (21). Dal lato opposto, sulla sporgenza delle
n.6 viti (5) e delle n.2 viti (21), avvitare senza serrare i n.8 dadi (4).

Luggage rack plate assembly

Pre-fit no.4 rubber blocks (8) and no.2 plugs (9) on luggage rack
plate (3), as shown in the figure. Position plate (3) on luggage rack
RH (1) and LH (2) support and start no.8 screws (5). Position the
bracket (20) on luggage rack plate (3) and start no. 2 screws (21).
Screw without tightening no.8 nuts (4) from the opposite side, on
the projection of no.6 screws (5) and of no. 2 screws (21).

DUCATI

PERFORMANLCE



ISTR 961/ 00

10 Nm +10% 10 Nm +10%

S : ?@

;
21 R

24 Nm £10%

Serraggio viti portapacchi

Serrare le n.2 viti (11), alla coppia indicata e, dal lato opposto, ser-
rare alla medesima coppia i n.2 dadi (13). Serrare le n.2 viti (14) alla
coppia indicata. Serrare le n.6 viti (5), alla coppia indicata, man-
tenendo dal lato opposto i n.6 dadi (4). Serrare le n.2 viti (21), alla
coppia indicata, mantenendo dal lato opposto i n.2 dadi (4).

10

Luggage rack screw tightening

Tighten no. 2 screws (11) to the specified torque and, on the op-
posite side, tighten no. 2 nuts (13) to the same torque. Tighten
no.2 screws (14) to the specified torque. Tighten no.8 screws (5) to
the specified torque while holding no.8 nuts (4) from the opposite
side. Tighten no.2 screws (21) to the specified torque while holding
no.2 nuts (4) from the opposite side.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Rimontaggio gruppo portatarga Refitting the number plate holder unit

Per la procedura di montaggio del gruppo portatarga (E) fare rife-  To fit number plate holder unit (E), refer to the instructions on the
rimento a quanto riportato sul manuale officina alla sezione “Mon-  workshop manual under section “Fitting the number plate holder”.

taggio portatarga”.

DUCATI

T PERFORMANLCE



ISTR 961/ 00

12

DUCATI

PERFORMANLCE



Rimontaggio gruppo silenziatori

Inserire i n.4 gommini originali (A3) e i n.2 distanziali con collare
(19) sulla staffa supporto silenziatori, orientandoli come mostrato
in figura. Inserire i n.2 distanziali con collare (19) sul tappo fissaggio
scarico (A4). Montare la fascetta originale (B) sul gruppo silenzia-
tori (A), orientandola come mostrato in figura. Montare il gruppo
silenziatori (A) sul motoveicolo, inserendolo sul compensatore (N).

Inserire | n.2 rosette (18) sul filetto dell n.2 viti (17). Posizionare il
puntone inferiore destro (6) sul gruppo silenziatori (A), come mo-
strato in figura e impuntare le n.2 viti (18). Impuntare la vite (15),
dal lato opposto, avvitare il dado (16).

Inserire | n.2 rosette (18) sul filetto dell n.2 viti (17). Posizionare il
puntone inferiore sinistro (7) sul gruppo silenziatori (A), come mo-
strato in figura e impuntare le n.2 viti (18). Impuntare la vite (15),
dal lato opposto, avvitare il dado (16). Serrare le n.4 viti (17) alla
coppia indicata. Serrare le n.2 viti (15), alla coppia indicata, man-
tenendo dal lato opposto i n.2 dadi (16). Serrare la fascetta (B) alla
coppia indicata.

13

ISTR 961/ 00

Fitting the silencer unit

Fit no.4 original rubber blocks (A3) and 2 spacers with collar (19)
onto the silencer support bracket, aiming them as shown in the
figure. Fit 2 spacers with collar (19) on the exhaust locking cap
(A4). Fit the original tie (B) on the silencer unit (A), positioning it as
shown in the figure. Fit the silencer unit (A) on the motorcycle by
inserting in on the collector box (N).

Fit 2 washers (18) on the thread of the 2 screws (17). Position the
lower RH lug (6) on the silencer unit (A), aiming it as shown in the
figure and start no. 2 screws (18). Start screw (15) while holding nut
(16) on the opposite side.

Fit 2 washers (18) on the thread of the 2 screws (17). Position lower
LH lug (7) on the silencer unit (A), aiming it as shown in the figure
and start no. 2 screws (18). Start screw (15) while holding nut (16) on
the opposite side. Tighten no.4 screws (17) to the specified torque.
Tighten no. 2 screws (15) to the specified torque while holding no.
2 nuts (16) from the opposite side. Tighten the tie (B) to the spec-
ified torque.

DUCATI

PERFORMANLCE



ISTR 961/ 00

A FY
=

5]

Ebes
!\\\“ﬁ\\\\\\\\\\\\\\\\\\‘ F

Rimontaggio sella

Assicurarsi che tutti gli elementi siano correttamente disposti e fis-
sati nel vano sotto la sella. Inserire l'estremita anteriore (D1) del
fondo sella sotto alla sede (P) del supporto telaio. Spingere sull'e-
stremita posteriore della sella (D) fino ad udire lo scatto del chiavi-
stello della serratura. Assicurarsi che la sella sia saldamente fissata
al telaio e rimuovere la chiave dalla serratura.

14

Refitting the seat

Make sure that all parts are correctly arranged and secured in the
compartment under the seat. Slide the front end (D1) of the seat
bottom underneath the seat (P) of the frame support. Press on
seat (D) rear end until locking latch snaps. Make sure that the seat
is firmly secured to the frame and remove the key from the lock.

DUCATI

PERFORMANLCE



ISTR - 961/ 00

Kit support top case - 96781251A
Kit Topcase-Halter - 96781251A

Symboles

Pour faciliter la consultation de ce manuel, des symboles signalent
des situations exigeant le maximum d'attention, des conseils pra-
tiques ou de simples informations. Lire attentivement la significa-
tion de ces symboles car ils renvoient a des concepts techniques ou
des consignes de sécurité de la plus grande importance. Ils doivent
étre considérés comme de véritables « aide-mémoire ». Toujours
consulter cette page en cas de doute concernant leur signification.

m Attention

La non-observance des instructions reportées ci-dessous peut
créer une situation dangereuse et provoquer de graves lésions per-
sonnelles voire la mort.

n Important

Indique la possibilité d'endommager le véhicule et/ou ses compo-
sants si les instructions reportées ci-dessous ne sont pas suivies.

@ Remarques

Fournit des informations utiles sur 'opération en cours.
Références

Les pieces surlignées en gris et la référence numérique (Ex. @)
représentent 'accessoire a installer et les composants de montage
éventuels fournis en kit.

Les pieces avec référence alphabétique (Ex. @) représentent les
composants d'origine présents sur le motocycle.

Toutes les indications droite ou gauche se réferent au sens de
marche la moto.

Avertissements généraux

m Attention

Les opérations indiquées dans les pages suivantes, au cas ou elles
ne seraient pas effectuées selon les regles de l'art pourraient com-
promettre la sécurité du pilote.

m Attention

Les opérations indiquées dans les pages suivantes, au cas ou elles
ne seraient pas effectuées selon les regles de l'art pourraient com-
promettre la sécurité du pilote.

@ Remarques

La documentation nécessaire pour effectuer la pose du Kit est le
Manuel D'atelier, relatif au modéle de moto en votre possession.

@ Remarques

Au cas ou il serait nécessaire d'effectuer le remplacement d'un
composant du kit, il faudra consulter la planche relative aux piéces
détachées ci-jointe.

Symbole

Zum schnellen und bersichtlichen Lesen werden Symbole verwendet,
die auBerordentlich wichtige Situationen, praktische Ratschldge oder
auch nur einfache Informationen hervorheben. Der Bedeutung dieser
Symbole ist besondere Aufmerksamkeit zu schenken, da sich hierdurch
das sténdige Wiederholen von technischen Konzepten oder Sicher-
heitshinweisen ertibrigt. Sie stellen daher regelrechte ,Merker” dar.
Diese Seite ist immer dann zur Hand zu nehmen, wenn Zweifel Uber
die Bedeutung eines Symbols bestehen sollten.

m Achtung

Eine Nichtbeachtung der hier wiedergegebenen Anweisungen
kann Gefahrensituationen schaffen und zu schweren Verletzungen
und auch zum Tod fiihren.

n Wichtig

Weist darauf hin, dass bei Nichteinhaltung der hier wiedergegebe-
nen Anweisungen die Mdglichkeit fir Schaden am Fahrzeug und/
oder seiner Komponenten besteht.

@ Hinweis

Ubermittelt niitzliche Informationen zum betreffenden Arbeits-
eingriff.

Bezugsangaben

Die grau gekennzeichneten Bestandteile mit numerischem Bezug
(Bsp. (1)) geben das zu installierende Bestandteil und die eventu-
ellen, im Kit enthaltenen Montagekomponenten wieder.

Die Bestandteile mit alphabetischem Bezug (Bsp. @) geben die
Original-Bestandteile wieder, die am Motorrad verbaut wurden.

Alle Angaben wie ,rechts” oder ,links" beziehen sich auf die Fahr-
trichtung des Motorrads.

Allgemeine Warnhinweise

m Achtung

Werden die auf den folgenden Seiten beschriebenen Arbeitsmaf-
nahmen nicht fachgerecht ausgefiihrt, kann sich dies auf die Si-
cherheit des Fahrers auswirken.

m Achtung

Werden die auf den folgenden Seiten beschriebenen Arbeitsmal3-
nahmen nicht fachgerecht ausgefiihrt, kann sich dies auf die Si-
cherheit des Fahrers auswirken.

@ Hinweis

Fir die Montage des Kits sind folgende Unterlagen erforderlich:
Werkstatthandbuch, des sich in lhrem Besitz befindlichen Motor-
rads.

@ Hinweis

Sollte sich der Austausch eines Bestandteils des Kits als erforder-
lich erweisen, ist dazu Bezug auf die beiliegende Ersatzteiltafel zu
nehmen.

DUCATI

PERFORMANLCE



ISTR 961/ 00

DUCATI

PERFORMANLCE



Attention

Le poids maximum transportable du porte-bagages est de 5 Kg
(11 lb). Au cas ol on excederait avec le poids conseillé on risque
la rupture du porte-bagages méme. Ceci peut avoir une influence
négative sur la sécurité du pilote.

m Attention

Le non-respect des limites de charge pourrait influencer négative-
ment la maniabilité et le rendement du motocycle, ainsi que pro-
voquer la perte de contréle du motocycle.

ISTR 961/ 00

Achtung

Das auf dem Gepécktréger transportierbare Hochstgewicht be-
tragt 5 kg (11 lb). Sollte das empfohlene Gewicht Uberschritten
werden, konnte es zum Bruch des Gepacktrdgers kommen. Da-
durch kann die Fahrersicherheit negativ beeintrachtigt werden.

m Achtung

Die Nichtbeachtung der Zuladungsgrenzwerte kdnnte die Wen-
digkeit und die Leistung lhres Motorrads negativ beeintrachtigen
und zum Verlust der Motorradkontrolle fiihren.

Pos. |Designation ____________|beseichnung_________|

1 Support du top case droit

2 Support du top case gauche
3 Plaque porte-bagages

4 Ecrou M6

5 Vis TFPHC M6x14

6 Bras de support inférieur droit
7 Bras de support inférieur gauche
8 Tampon en caoutchouc

9 Bouchon

10  Bouchon

1 Vis TBHCF M10x45

12 Entretoise

13 Ecrou M10

14 Vis TCHC M8 x 16

15 Vis TBHC M8x18

16 Ecrou M8

17 Vis TCHC M8x35

18  Rondelle

19  Entretoise a collerette

20  Bride d'accrochage avant

21 Vis TFPHC M6x20

Rechter Topcase-Halter

Linker Topcase-Halter

Gepdcktragerplatte

Mutter M6

Spezial-Innensechskantschraube M6x14
Rechte untere Abstilitzung

Linke untere Abstiitzung

Gummistopfen

Verschluss

Verschluss

Geflanschte Rundkopf-Inbusschraube M10x45
Distanzstiick

Mutter M10

Geflanschte Zylinderschraube mit Innensechskant M8x16
Rundkopf-Inbusschraube M8x18

Mutter M8

Zylinderschraube mit Innensechskant M8x35
Unterlegscheibe

Distanzstiick mit Bund

Btigel vordere Kopplung

Spezial-Innensechskantschraube M6x20

DUCATI

PERFORMANLCE



ISTR 961/ 00

Dépose composants d'origine

m Attention

Le moteur et le systéeme d'échappement atteignent des tempéra-
tures tres élevées pendant l'utilisation de la moto et restent chauds
longtemps aprés l'arrét du moteur. Pour manipuler ces piéces, por-
ter des gants isolants ou attendre qu'elles se refroidissent.

m Attention

Le systeme d'échappement peut étre chaud, méme apres avoir
arrété le moteur : prendre garde qu'aucune partie du corps ne
touche le systeme d'échappement et veiller a ne pas garer le mo-
tocycle a proximité de matiéres inflammables (y compris le bois,
les feuilles, etc.).

Dépose de l'ensemble silencieux

Desserrer le collier serre-flex (B). Desserrer les 4 vis (A1) et déposer
les 4 entretoises a collerette (A2). Déposer ['ensemble silencieux
(A). Déposer et récupérer de l'ensemble silencieux (A) les 4 plots
antivibratoires (A3).

Ausbau der Original-Bestandteile

m Achtung

Der Motor und die Auspuffanlage werden wahrend der Fahrt sehr
heiB und behalten diese Temperaturen auch nach Abstellen des
Motors iber lange Zeit hinweg bei. Fiir die Handhabung dieser
Teile sind daher Warmeschutzhandschuhe zu tragen bzw. ist so
lange zu warten, bis sie abgekiihlt sind.

m Achtung

Die Auspuffanlage kann auch nach dem Ausschalten des Motors
noch heif3 sein, daher ist darauf zu achten, dass man mit keinem
Korperteil mit der Auspuffanlage in Berlihrung kommt und dass
das Fahrzeug nicht in der Ndhe von entflammbarem Material (ein-
schlieBlich Holz, Blatter usw.) abgestellt wird.

Abnahme der Schalldampfereinheit

Die Schelle (B) lockern. Die 4 Schrauben (A1) l6sen, dann die 4 Di-
stanzstiicke mit Bund (A2) entfernen. Die Schalldémpfereinheit
(A) abnehmen. Die 4 Schwingungsdampfergummis (A3) von der
Schalldéampfereinheit (A) entfernen und aufnehmen.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Dépose de la selle

Insérer la clé dans la serrure (C), la tourner dans le sens des aiguilles
d'une montre et, en méme temps, exercer une pression vers le bas
a proximité du verrou pour faciliter le décrochage de la vis sans
téte. Sortir la selle (D) des arrétoirs avant en la tirant vers l'arriére.

Abnahme der Sitzbank

Den Schliissel in das Schloss (C) einstecken, im Uhrzeigersinn dre-
hen und dabei gleichzeitig am Riegel nach unten driicken, um das
Losen des Verriegelungsstifts zu erleichtern. Die Sitzbank (D) durch
Ziehen nach hinten von den vorderen Halterungen entfernen.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Dépose de l'ensemble support de plaque d'immatri-
culation

Pour la procédure de dépose de l'ensemble support de plaque
d'immatriculation (E) se référer aux indications du manuel d'atelier
a la section « Dépose du support de plaque d'immatriculation ».

Déposer les 2 bouchons (F) et desserrer les 2 vis (G) de la bride
arriere (H).

Abnahme der Kennzeichenhaltereinheit

Fir die Abnahme der Kennzeichenhaltereinheit (E) ist Bezug auf
die Angaben im Werkstatthandbuch im Abschnitt ,Abnahme des
Kennzeichenhalters” zu nehmen.

Die 2 Verschlussstopfen (F) entfernen und die 2 Schrauben (G) aus
dem hinteren Biigel (H) lGsen.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Pose composants kit

n Important

Vérifier, avant la pose, que tous les composants sont propres et en
parfait état. Adopter toutes les précautions nécessaires pour éviter
d'endommager la surface externe des composants ot on opeére.

Pré-montage bouchons support porte-bagages

Introduire le bouchon (10) sur le support porte-bagages droit (1),
comme la figure le montre. Répéter la méme opération pour le
support porte-bagages gauche (2).

Montage der Komponenten des Kits

n Wichtig

Vor der Montage iiberpriifen, dass sich alle Komponenten im sau-
beren und perfekten Zustand befinden. Alle erforderlichen Vor-
sichtsmalBnahmen treffen, um eine Beschddigung der Oberflachen
der Komponenten, die vom Eingriff betroffen sind, zu vermeiden.

Vormontage der Verschlussstopfen am Gepacktra-
gerhalter

Den Verschlussstopfen (10) wie abgebildet in den rechten Gepack-
tragerhalter (1) einfligen. In der gleichen Weise im Fall des linken
Gepacktragerhalters (2) verfahren.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Pose du support porte-bagages droit

En agissant du c6té droit du motocycle, positionner le support
porte-bagages droit (1) au niveau des trous au-dessous du sous-
cadre arriere droit (L) et présenter la vis (14) sans la serrer. Position-
ner l'entretoise (12) au niveau du trou arriere du support porte-ba-
gages droit (1), en l'interposant entre le sous-cadre arriere droit (L)
et le support porte-bagages droit (1) méme. Présenter la vis (11), du
coté opposé, visser l'écrou (13) sur le filetage de la vis (17).

Pose du support porte-bagages gauche

En agissant du c6té gauche du motocycle, positionner le sup-
port porte-bagages gauche (2) au niveau des trous au-dessous du
sous-cadre arriere gauche (M) et présenter la vis (14) sans la serrer.
Positionner l'entretoise (12) au niveau du trou arriere du support
porte-bagages gauche (2), en l'interposant entre le sous-cadre ar-
riere gauche (M) et le support porte-bagages gauche (2) méme.
Présenter la vis (11), du coté opposé, visser 'écrou (13) sur le file-
tage de la vis (11).

Montage des rechten Gepacktragerhalters

An der rechten Seite des Motorrads arbeitend, den rechten Ge-
packtragerhalter (1) an den Bohrungen unter der rechten Heckrah-
menhalfte (L) anordnen, dann die Schraube (14) ansetzen, ohne
sie anzuziehen. Das Distanzstiick (12) an der hinteren Bohrung des
rechten Gepacktragerhalters (1) anordnen und dabei zwischen die
rechte Heckrahmenhalfte (L) und den rechten Gepacktragerhalter
(1) einfligen. Die Schraube (11) von der gegeniiberliegenden Seite
her ansetzen, dann die Mutter (13) auf das Gewinde der Schraube
(1) aufschrauben.

Montage des linken Gepacktragerhalters

An der linken Seite des Motorrads arbeitend, den linken Gepack-
tragerhalter (2) an den Bohrungen unter der linken Heckrahmen-
halfte (M) anordnen, dann die Schraube (14) ansetzen, ohne sie
anzuziehen. Das Distanzstiick (12) an der hinteren Bohrung des
linken Gepdcktragerhalters (2) anordnen und dabei zwischen die
linke Heckrahmenhalfte (M) und den linken Gepécktrdgerhalter (2)
einfligen. Die Schraube (11) von der gegeniiberliegenden Seite her
ansetzen, dann die Mutter (13) auf das Gewinde der Schraube (11)
aufschrauben.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Pose plaque porte-bagages

Pré-monter les 4 tampons (8) et les 2 bouchons (9) sur la plaque
porte-bagages (3), comme la figure le montre. Positionner la
plague (3) sur le support des porte-bagages droit (1) et gauche (2)
et présenter les 8 vis (5). Positionner la bride (20) sur la plaque
porte-bagages (3) et présenter les 2 vis (21). Du c6té opposé, sur
la saillie des 6 vis (5) et des 2 vis (21), visser les 8 écrous (4) sans
les serrer.

Montage der Gepacktragerplatte

Die 4 Verschlussstopfen (8) und die 2 Verschlussstopfen (9) des Ge-
packtrdgers gemal Abbildung auf der Gepacktragerplatte (3) vor-
montieren. Die Platte (3) am rechten (1) und linken (2) Gepacktra-
gerhalter anordnen, dann die 8 Schrauben (5) ansetzen. Den Bligel
(20) an der Gepacktragerplatte (3) anordnen und die 2 Schrauben
(21) ansetzen. Die 8 Muttern (4) an der gegentiberliegenden Seite,
an der Auskragung der 6 Schrauben (5) und der 2 Schrauben (21),
aufschrauben, ohne sie anzuziehen.

DUCATI

PERFORMANLCE



ISTR 961/ 00

®

;
21 R

24 Nm £10%

Serrage vis porte-bagages

Serrer les 2 vis (11) au couple indiqué et, du coté opposé, serrer les 2
écrous (13) au méme couple. Serrer les 2 vis (14) au couple prescrit.
Serrer les 8 vis (5) au couple prescrit en maintenant les 8 écrous (4)
du coté opposé. Serrer les 2 vis (21) au couple prescrit en mainte-
nant les 2 écrous (4) du c6té opposé.

10

Anzug der Gepacktragerschrauben

Die 2 Schrauben (11) mit dem angegebenen Anzugsmoment an-
ziehen und ansetzen und dabei an der gegentiberliegenden Sei-
te die 2 Muttern (13) auf dasselbe Anzugsmoment bringen. Die 2
Schrauben (14) mit dem angegebenen Anzugsmoment anziehen.
Die 8 Schrauben (5) mit dem angegebenen Anzugsmoment anzie-
hen und dabei, an der gegeniiberliegenden Seite, die 8 Muttern (4)
kontern. Die 2 Schrauben (21) mit dem angegebenen Anzugsmo-
ment anziehen und dabei, an der gegeniiberliegenden Seite, die 2
Muttern (4) kontern.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Repose de l'ensemble support de plaque d'immatri- Montage der Kennzeichenhaltereinheit

culation Fir das Montageverfahren der Kennzeichenhaltereinheit (E) ist
Pour la procédure de pose de l'ensemble support de plaque d'im-  Bezug auf die Angaben im Werkstatthandbuch im Abschnitt
matriculation (E), se référer aux indications du manuel d'atelierala  ,Montage des Kennzeichenhalters” zu nehmen.

section « Pose du support de plaque d'immatriculation ».

DUCATI

T PERFORMANLCE



ISTR 961/ 00

12

DUCATI

PERFORMANLCE



Repose ensemble silencieux

Insérer les 4 plots caoutchouc (A3) et les 2 entretoises a collerette
(19) sur la bride de support silencieux, en les orientant comme la
figure le montre. Introduire les 2 entretoises a collerette(19) sur le
bouchon de fixation échappement (A4). Poser le collier serre-flex
d'origine (B) sur l'ensemble silencieux (A), en l'orientant comme la
figure le montre. Poser l'ensemble silencieux (A) sur le motocycle,
en l'insérant sur le compensateur (N).

Insérer les 2 rondelles (18) sur le filetage des 2 vis (17). Positionner
le bras de support inférieur droit (6) sur l'ensemble silencieux (A)
comme la figure le montre, puis présenter les 2 vis (18). Présenter
la vis (15), en vissant |'écrou (16) du c6té opposé.

Insérer les 2 rondelles (18) sur le filetage des 2 vis (17). Positionner
le bras de support gauche (7) sur 'ensemble silencieux (A) comme
la figure le montre, puis présenter les 2 vis (18). Présenter la vis (15),
en vissant 'écrou (16) du c6té opposé. Serrer les 4 vis (17) au couple
prescrit. Serrer les 2 vis (15) au couple prescrit en maintenant les 2
écrous (16) du c6té opposé. Serrer le collier serre-flex (B) au couple
prescrit.

13

ISTR 961/ 00

Montage der Schalldampfereinheit

Die 4 Original-Gummielemente (A3) und die 2 Distanzstiicke mit
Bund (19) in den Schalldéampferstiitzbiigel einfliigen und wie ab-
gebildet ausrichten. Die 2 Distanzstticke mit Bund (19) in den Aus-
puffbefestigungsverschluss (A4) einfligen. Die Original-Schelle
(B) an der Schalldéampfereinheit (A) montieren und wie abgebildet
ausrichten. Die Schallddmpfereinheit (A) am Motorrad montieren
und dabei in den Kompensator (N) einfiigen.

Die 2 Unterlegscheiben (18) auf das Gewinde der 2 Schrauben (17)
fligen. Die rechte untere Abstiitzung (6) wie abgebildet an der
Schalldampfereinheit (A) anordnen, dann die 2 Schrauben (18) an-
setzen. Die Schraube (15) ansetzen und an der gegeniiberliegen-
den Seite die Mutter (16) aufschrauben.

Die 2 Unterlegscheiben (18) auf das Gewinde der 2 Schrauben
(17) figen. Die linke untere Abstiitzung (7) wie abgebildet an der
Schalldéampfereinheit (A) anordnen, dann die 2 Schrauben (18) an-
setzen. Die Schraube (15) ansetzen und an der gegentiberliegen-
den Seite die Mutter (16) aufschrauben. Die 17 Schrauben (4) mit
dem angegebenen Anzugmoment anziehen. Die 2 Schrauben (15)
ansetzen und dabei, an der gegentiiberliegenden Seite, die 2 Mut-
tern (16) kontern. Die Schelle (B) mit dem angegebenen Anzugs-
moment anziehen.

DUCATI

PERFORMANLCE



ISTR 961/ 00

A FY
=

5]

Ebes
!\\\“ﬁ\\\\\\\\\\\\\\\\\\‘ F

Repose selle

Vérifier que tous les éléments soient correctement placés et fixés
dans le compartiment dessous de selle. Insérer ['extrémité avant
(D1) du fond de selle au-dessous du logement (P) du support du
cadre. Pousser sur l'extrémité arriere de la selle (D) jusqu'a ce que
l'on entende le déclic du verrou de la serrure. Vérifier que la selle
soit solidement fixée au cadre et déposer la clé de la serrure.

14

Montage der Sitzbank

Sicherstellen, dass alle Elemente korrekt angeordnet und im Sitz-
bankfach befestigt sind. Das vordere Endsttick (D1) des Sitzbank-
bodens unter den Sitz (P) des Rahmentragers einfligen. Auf den
hinteren Bereich der Sitzbank (D) drlicken, bis das Einrasten der
Schlossverriegelung zu hdren ist. Sicherstellen, dass die Sitzbank
fest am Rahmen befestigt ist, dann den Schliissel aus dem Schloss
ziehen.

DUCATI

PERFORMANLCE



ISTR - 961/ 00

Conjunto suporte para top case - 96781251A
Top case support kit - 96781251A

Simbolos

Para uma leitura rapida e racional, foram utilizados simbolos que
evidenciam situa¢Bes de méaxima atencdo, conselhos préticos ou
simples informacdes. Preste muita atenc¢do ao significado dos sim-
bolos, pois a sua funcdo é a de evitar a repeticdo de conceitos téc-
nicos ou de avisos de seguranca. Portanto, os simbolos devem ser
considerados como verdadeiros "lembretes”. Consulte esta pagina
sempre que tiver dlvidas acerca do seu significado.

m Atencao

O ndo cumprimento das instru¢des mostradas pode criar uma si-
tuacdo de perigo e causar graves lesdes pessois e até mesmo a
morte.

n Importante

Indica a possibilidade de causar danos ao veiculo e/ou aos seus
componentes se as instru¢des mostradas ndo forem executadas.

@ Notas

Fornece informacdes Uteis sobre a operacdo em curso.
Referéncias

Os detalhes evidenciados em cinza e com referéncia numérica (Ex.
@) representam o acessério a ser instalado e os eventuais com-
ponentes de montagem fornecidos como kit.

Os detalhes com referéncia alfabética (Ex. @) representam os
componentes originais presentes
na moto.

Todas as indicacdes direita ou esquerda, referem-se ao sentido de
marcha da moto.

Adverténcias gerais

m Atencao

As operacdes mostradas nas paginas a seguir, se ndo forem execu-
tadas com boa técnica, podem prejudicar a seguranca do condutor.

m Atencao

As opera¢Bes mostradas nas pdginas a seguir, se ndo forem execu-
tadas com boa técnica, podem prejudicar a seguranga do condutor.

@ Notas

Documentacdo necessdria para executar a montagem do Conjun-
to: Manual De Oficina, relativo ao modelo de moto em sua posse.

@ Notas

Caso seja necessdria a substituicdo de um componente do conjun-
to, consulte o quadro de pecas de reposicdo em anexo.

Symbols

To allow quick and easy consultation, this manual uses graph-
ic symbols to highlight situations in which maximum care is re-
quired, as well as practical advice or information. Pay attention to
the meaning of the symbols since they serve to avoid repeating
technical concepts or safety warnings throughout the text. The
symbols should therefore be seen as real reminders. Please refer
to this page whenever in doubt as to their meaning.

m Warning

Failure to follow these instructions might give raise to a dangerous
situation and provoke severe personal injuries or even death.

n Caution

Failure to follow these instructions might cause damages to the
vehicle and/or its components.

@ Notes

Useful information on the procedure being described.
References

Parts highlighted in grey and with a numeric reference (Example
) are the accessory to be installed and any assembly compo-
nents supplied with the kit.

Parts with an alphabetic reference (Example @) are the original
components fitted on the vehicle.

Any right- or left-hand indication refers to the vehicle direction of
travel.

General notes

m Warning

Carefully perform the operations on the following pages since they
might negatively affect rider safety.

m Warning

Carefully perform the operations on the following pages since they
might negatively affect rider safety.

@ Notes

The following documents are necessary for assembling the Kit:
Workshop Manual of your bike model.

@ Notes

Should it be necessary to change any kit parts, please refer to the
attached spare part table.

m Warning

Operating, servicing and maintaining a passenger vehicle or
off-highway motor vehicle can expose you to chemicals including
engine exhaust, carbon monoxide, phthalates, and lead, which are
known to the State of California to cause cancer and birth defects
or other reproductive harm. To minimize exposure, avoid breath-
ing exhaust, do not idle the engine except as necessary, service
your vehicle in a well-ventilated area and wear gloves or wash your
hands frequently when servicing your vehicle. For more informa-
tion go to www.P65Warnings.ca.gov/passenger-vehicle.

DUCATI

PERFORMANLCE




ISTR 961/ 00

DUCATI

PERFORMANLCE



Atencao

O peso maximo transportavel pelo porta-bagagens é de 5 Kg (11
lb). Se exceder o peso aconselhado, risca-se o rompimento do por-
ta-bagagens. Isto pode influenciar negativamente a seguranca do
condutor.

m Atencao

A ndo observancia dos limites de carga pode influenciar negativa-
mente o manuseamento e a aderéncia da sua moto e provocar a
perda de controlo.

ISTR 961/ 00

Warning

Luggage rack max. loading capacity is 5 Kg (11 lb). Should this
weight be exceeded, luggage rack could break. This can affect rid-
er's safety.

m Warning

Failure to observe weight limits could result in poor handling and
impair the performance of your motorcycle, and you may lose con-
trol of the motorcycle.

Pos. |Descriggo _______________|Descrption________________|

1 Suporte para top case direito

2 Suporte para top case esquerdo
3 Placa porta-bagagens

4 Porca M6

ul

Parafuso de cabeca escareada chata com sextavado interno

RH top case support
LH top case support
Luggage rack plate
Nut M6

TSPEI screw Mbx14

Mex14
6 Suporte inferior direito Lower RH lug
7 Suporte inferior esquerdo Lower LH lug
8 Tampdo de borracha Rubber buffer
9 Tampa Plug
10  Tampa Plug
- Parafuso de cabeca abaulada flangeada com sextavado interno = TBEIF M10x45 screw

M10x45
12 Espacador
13 Porca M10

14 M8x16

15  Parafuso de cabeca abaulada com sextavado interno M8x18

16 Porca M8

17 Parafuso de cabeca cilindrica com sextavado interno M8x35

18  Anilha
19  Espagador com colar

20  Suporte de engate dianteiro

21 M6x20

Parafuso de cabeca cilindrica flangeada com sextavado interno

Parafuso de cabeca escareada chata com sextavado interno

Spacer
M10 nut
TCEIF screw M8x16

TBEI M8x18 screw
Nut M8
TCEI M8x35 screw
Washer
Spacer with collar

Front coupling bracket

TSPEI screw M6x20

DUCATI

PERFORMANLCE



ISTR 961/ 00

Desmontagem dos componentes originais

m Atencao

O motor e as partes do sistema de escape ficam muito quentes
com o uso da moto, permanecendo quentes por muito tempo
mesmo depois de o motor ter sido desligado. Para manusear estas
partes, use luvas para a protecdo térmica ou espere que estejam
bem frias.

m Atencao

O sistema de escape pode estar quente, mesmo depois de o motor
ter sido desligado; tome muito cuidado para que nenhuma parte
do corpo entre em contacto com o sistema de escape e para ndo
estacionar o veiculo perto de materiais inflamaveis (como madeira,
folhas, etc.).

Desmontagem do grupo silenciadores

Alivie a bracadeira (B). Desatarraxe os 4 parafusos (A1) e remova
0s 4 espacadores com colar (A2). Desmonte o grupo silenciadores
(A). Remova e conserve as 4 borrachas antivibracdes (A3) do grupo
silenciadores (A).

Removing the original components

m Warning

The engine and exhaust parts become hot when the motorcycle
engine is running and will stay hot for some time after the engine
has been stopped. Wear heat-resistant gloves before handling
these components or allow the engine and exhaust system to cool
down before proceeding.

m Warning

The exhaust system might be hot, even after engine is switched
OFF; pay particular attention not to touch exhaust system with
any body part and do not park the motorcycle next to inflammable
material (wood, leaves etc.).

Removing the silencer unit

Loosen clamp (B). Loosen no.4 screws (A1) and remove no.4 spac-
ers with collar (A2). Remove silencer unit (A). Remove and recover
from the silencer unit (A) the 4 vibration dampers (A3).

DUCATI

PERFORMANLCE



ISTR 961/ 00

Desmontagem do assento

Introduza a chave na fechadura (C), gire-a no sentido horério e si-
multaneamente pressione para baixo perto do ferrolho para facili-
tar o desengate do pino. Retire o assento (D) dos retentores dian-
teiros, puxando-o para trds.

Seat disassembly

Insert the key in the lock (C), turn the key clockwise and simulta-
neously press downward in the area of the latch to release the pin.
Pull the seat (D) backwards to release it from the front retainers.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Desmontagem do grupo porta-matricula Removing the number plate holder unit

Para o procedimento de desmontagem do grupo porta-matricu-  To remove number plate holder unit (E) refer to the instructions on
la (E), consulte o quanto indicado no manual de oficina na secdo  the workshop manual under section “Removing the number plate

“Desmontagem do porta-matricula”. holder”.
Remova as 2 tampas (F) e desatarraxe os 2 parafusos (G) da braca-  Remove the 2 plugs (F) and loosen the 2 screws (G) from the rear
deira traseira (H). bracket (H).

DUCATI

6 PERFORMANLCE



ISTR 961/ 00

Montagem dos componentes

n Importante

Verifique, antes da montagem, se todos os componentes estdo
limpos e em perfeito estado. Adote todas as precau¢des necessa-
rias para evitar danificar qualquer peca com a qual deve trabalhar.

Pré-montagem das tampas do suporte porta-baga-
gens

Introduza a tampa (10) no suporte porta-bagagens direito (1), como
mostrado na figura. Repita a mesma operacdo para o suporte por-
ta-bagagens esquerdo (2).

Kit installation

n Caution

Check that all components are clean and in perfect condition be-
fore installation. Adopt any precaution necessary to avoid damag-
es to any part of the motorcycle you are working on.

Pre-fit the luggage rack support plugs

Fit plug (10) on luggage rack RH support (1), as shown in the figure.
Repeat the same procedure for luggage rack LH support (2).

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montagem do suporte porta-bagagens direito

Atuando no lado direito da moto, posicione o suporte porta-ba-
gagens direito (1) em correspondéncia dos furos embaixo do sub-
chassi traseiro direito (L) e encoste, sem apertar, o parafuso (14).
Posicione o espagador (12) em correspondéncia do furo traseiro do
suporte porta-bagagens direito (1), colocando-o entre o subchassi
direito (L) e o suporte porta-bagagens direito (1). Encoste o para-
fuso (11), pelo lado oposto, atarraxe a porca (13) na rosca do para-
fuso (11).

Montagem do suport e porta-bagagens esquerdo

Atuando no lado esquerdo da moto, posicione o suporte porta-
-bagagens esquerdo (2) em correspondéncia dos furos embaixo do
subchassi traseiro esquerdo (M) e encoste, sem apertar, o parafuso
(14). Posicione o espacador (12) em correspondéncia do furo trasei-
ro do suporte porta-bagagens esquerdo (2), colocando-o entre o
subchassi esquerdo (M) e o suporte porta-bagagens esquerdo (2).
Encoste o parafuso (11), pelo lado oposto, atarraxe a porca (13) na
rosca do parafuso (11).

Luggage rack RH support assembly

Working on vehicle right side, position the luggage rack RH sup-
port (1) on the holes under rear subframe (L) and start the screw
(14) without tightening. Position the spacer (12) at the rear hole of
the luggage rack RH support (1) by placing it between the rear RH
subframe (L) and the luggage rack RH support (1). Start the screw
(11), on the opposite side, tighten nut (13) on screw (11) thread.

Luggage rack LH support assembly

Working on vehicle left side, position luggage rack LH support
(2) on the holes under rear LH subframe (M) and start screw (14)
without tightening. Position the spacer (12) at the rear hole of the
luggage rack LH support (2) by placing it between the rear LH sub-
frame (L) and the luggage rack LH support (2). Start the screw (11),
on the opposite side, tighten nut (13) on screw (11) thread.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montagem da placa porta-bagagens

Pré-monte as 4 tampas (8) e as 2 tampas (9) na placa porta-baga-
gens (3), como mostrado na figura. Posicione a placa (3) no suporte
porta-bagagens direito (1) e esquerdo (2), encostando os 8 parafu-
sos (5). Posicione o suporte traseiro (20) na placa porta-bagagens
(3) e encoste os 2 parafusos (21). Pelo lado oposto, na saliéncia dos
6 parafusos (5) e dos 2 parafusos (21), atarraxe as 8 porcas (4) sem
apertar.

Luggage rack plate assembly

Pre-fit no.4 rubber blocks (8) and no.2 plugs (9) on luggage rack
plate (3), as shown in the figure. Position plate (3) on luggage rack
RH (1) and LH (2) support and start no.8 screws (5). Position the
bracket (20) on luggage rack plate (3) and start no. 2 screws (21).
Screw without tightening no.8 nuts (4) from the opposite side, on
the projection of no.6 screws (5) and of no. 2 screws (21).

DUCATI

PERFORMANLCE



ISTR 961/ 00

10 Nm +10% 10 Nm +10%

S : ?@

;
21 R

24 Nm £10%

Aperto dos parafusos do porta-bagagens

Aperte os 2 parafusos (11) ao binario indicado e, pelo lado oposto,
aperte ao mesmo bindrio as 2 porcas (13). Aperte os 2 parafusos
(14) ao binario indicado. Aperte os 8 parafusos (5) ao binario indica-
do, mantendo as 8 porcas (4) bem firmes no lado oposto. Aperte os
2 parafusos (21) ao binério indicado, mantendo as 2 porcas (4) bem
firmes no lado oposto.

10

Luggage rack screw tightening

Tighten no. 2 screws (11) to the specified torque and, on the op-
posite side, tighten no. 2 nuts (13) to the same torque. Tighten
no.2 screws (14) to the specified torque. Tighten no.8 screws (5) to
the specified torque while holding no.8 nuts (4) from the opposite
side. Tighten no.2 screws (21) to the specified torque while holding
no.2 nuts (4) from the opposite side.

DUCATI

PERFORMANLCE



ISTR 961/ 00

Remontagem do grupo suporte de matricula

Para o procedimento de montagem do grupo suporte de matricu-
la (E), consulte o quanto indicado no manual de oficina na seccdo
“Montagem do suporte de matricula”.

1

Refitting the number plate holder unit

To fit number plate holder unit (E), refer to the instructions on the
workshop manual under section “Fitting the number plate holder”.

DUCATI

PERFORMANLCE



ISTR 961/ 00

12

DUCATI

PERFORMANLCE



Remontagem do grupo silenciadores

Insira as 4 borrachas originais (A3) e os 2 espagadores com colar
(19) na bracadeira de suporte dos silenciadores, direcionando-os
como mostrado na figura. Insira os 2 espacadores com colar (19)
na tampa de fixacdo do escape (A4). Monte a bracadeira original
(B) no grupo silenciadores (A), direcionando-a como mostrado na
figura. Monte o grupo silenciadores (A) na moto, inserindo-o no
compensador (N).

Insira as 2 anilhas (18) na rosca dos 2 parafusos (17). Posicione o su-
porte inferior direito (6) no grupo silenciadores (A), como mostrado
na figura e encoste os 2 parafusos (18). Encoste o parafuso (15),
pelo lado oposto, atarraxe a porca (16).

Insira as 2 anilhas (18) na rosca dos 2 parafusos (17). Posicione o su-
porte inferior esquerdo (7) no grupo silenciadores (A), como mos-
trado na figura e encoste os 2 parafusos (18). Encoste o parafuso
(15), pelo lado oposto, atarraxe a porca (16). Aperte os 4 parafusos
(17) ao binério indicado. Aperte os 2 parafusos (15) ao binario indi-
cado, mantendo pelo lado oposto as 2 porcas (16). Aperte a braca-
deira (B) ao binéario indicado.

13

ISTR 961/ 00

Fitting the silencer unit

Fit no.4 original rubber blocks (A3) and 2 spacers with collar (19)
onto the silencer support bracket, aiming them as shown in the
figure. Fit 2 spacers with collar (19) on the exhaust locking cap
(A4). Fit the original tie (B) on the silencer unit (A), positioning it as
shown in the figure. Fit the silencer unit (A) on the motorcycle by
inserting in on the collector box (N).

Fit 2 washers (18) on the thread of the 2 screws (17). Position the
lower RH lug (6) on the silencer unit (A), aiming it as shown in the
figure and start no. 2 screws (18). Start screw (15) while holding nut
(16) on the opposite side.

Fit 2 washers (18) on the thread of the 2 screws (17). Position lower
LH lug (7) on the silencer unit (A), aiming it as shown in the figure
and start no. 2 screws (18). Start screw (15) while holding nut (16) on
the opposite side. Tighten no.4 screws (17) to the specified torque.
Tighten no. 2 screws (15) to the specified torque while holding no.
2 nuts (16) from the opposite side. Tighten the tie (B) to the spec-
ified torque.

DUCATI

PERFORMANLCE



ISTR 961/ 00

A FY
=

5]

Ebes
!\\\“ﬁ\\\\\\\\\\\\\\\\\\‘ F

Remontagem do assento

Certifique-se de que todos os elementos estejam corretamente
dispostos e fixados no compartimento debaixo do assento. Insira
a extremidade dianteira (D1) do fundo do assento debaixo da sede
(P) do suporte do chassi. Empurre na extremidade traseira do as-
sento (D) até ouvir o disparo do ferrolho da fechadura. Certifique-
se de que o assento esteja fixado firmemente ao chassi e remova
a chave da fechadura.

14

Refitting the seat

Make sure that all parts are correctly arranged and secured in the
compartment under the seat. Slide the front end (D1) of the seat
bottom underneath the seat (P) of the frame support. Press on
seat (D) rear end until locking latch snaps. Make sure that the seat
is firmly secured to the frame and remove the key from the lock.

DUCATI

PERFORMANLCE



ISTR - 961/ 00

Kit soporte top case - 96781251A
by Tr—RTI 0 FEy k- 96781251A

Simbolos

Para una lectura rdpida y racional se han empleado simbolos que
evidencian situaciones de maxima atencidn, consejos practicos o
simples informaciones. Prestar mucha atencién al significado de
los simbolos porque su funcién consiste en omitir la repeticién de
conceptos técnicos o advertencias de seguridad. Los simbolos de-
ben considerarse como verdaderos “apuntes”. Consultar esta pagi-
na cada vez que se tengan dudas sobre su significado.

m Atencién

El incumplimiento de las instrucciones indicadas puede crear una
situacion de peligro y ocasionar graves lesiones e incluso la muerte.

n Importante

Indica la posibilidad de provocar un dafio al vehiculo y/o a sus com-
ponentes si no se siguen las instrucciones indicadas.

@ Notas

Suministra Utiles informaciones sobre la operacion en curso.
Referencias

Las partes resaltadas en gris y la referencia numérica (Por ej. @)
representan el accesorio que se debe instalar y los eventuales com-
ponentes de montaje suministrados en el kit.

Las partes con referencia alfabética (Por ej. @) representan los
componentes originales presentes en la motocicleta.

Todas las indicaciones derecha o izquierda se refieren al sentido de
marcha de la motocicleta.

Advertencias generales

m Atencién

Las operaciones descritas en las siguientes paginas deben realizar-
se correctamente para no perjudicar la seguridad del piloto.

m Atencién

Las operaciones descritas en las siguientes paginas deben
realizarse correctamente para no perjudicar la seguridad
del piloto.

@ Notas

La documentacidn necesaria para realizar el montaje del Kit es el:
Manual De Taller, relativo al modelo de moto en vuestro poder.

@ Notas

Si fuera necesario sustituir un componente del kit, consultar la ta-
bla de recambios adjunta.

o URIL

FRLIDOGHMICHAHAED D Z N TEXDHLHIC, Kv=a7
LTINS DD RV EEAL, Ik KIBOEEZH H M3
Nd DRI, HERFEE, 23— MEREAMEICLTHY £
T, FEITPBESCL I T 2B S 2 K LR35 B3 e
WEIICHEREL TVWADT, KL U RIALOFEKICHoERELTL
FEW, YURMIL, BEED “RAEX” THHEEZTLE
EWV, VURAREDEWRNDLNSRL otz BRNICE Y BE
X, BT ZORXR=IUTHRRD LI LTLEEN,

!liiﬁ

ZOBRPAFCHEDTITHEMNT 5 L ERZ2RNEZH S, BERRY
B, HOWVEFHEZ LB OTHNE R ERH Y £T,

!J_E%

ZOBRPBCHDPICHEMT S &, wELT/ U2 OHHICH
BRI TR D Y £

O

YRR ORI % A A i B L TV
% 8

P2NRY

R TEFT W, BLOsHES Es()) CTRETHHE
XL F oy MRS HI0 T3 X O TEL &2~ L E
7,

BHTALT7 7y b (EsB) TEAT LWL, TR D
FY OF AR LET,

T RCOL L OEDORERIEEROETH M Z W= O TY,
— R EEEE

!!51%

LUFOR=ICRH S TV D /EESBUE Y I FE il S
L. TAF—ORENEETBENRH Y T,

!liiﬁ

IR OR=VICRM S TV D EESBUE | D I FE i S
& TAX—0RENEEPTBENLRDHY £,

O

F v FOWY HHICHEZRE R - BRERD O BT T VISR
LU= vayS<v=aT I,

O

X v MBS E T HMEN D DA, RO AT =
KEBBLTLLIEEW,

DUCATI

PERFORMANLCE



ISTR 961/ 00

DUCATI

PERFORMANLCE



Atencion

El peso maximo que se puede transportar en el porta-equipaje es
de 5 kg (11 lb). Si se excede el peso recomendado, se corre el riesgo
de que se rompa el porta-equipaje. Esto puede influir de manera
negativa en la seguridad del piloto.

m Atencién

Sino se respetan los limites de carga indicados, puede perjudicarse
la maniobrabilidad y el rendimiento y puede perderse el control de
la motocicleta.

ISTR 961/ 00

TV T v O RKEHERIT 5 Kg (11 b)) T, HEHEE
EBATSE. Ty YTy BRI ABENRHY £, T
FoTT I PR TLE. TA X —DORETEREEY RIFT R
ZnnH v £,

mﬁii
= R

HEGI RN BT IR WIS, Jl O EiEE & RO T 24
X, Hgoary ba =Lz KRB R ERDLZERDHY T,

[
of

| Pos. Denominacion

1 Soporte top case derecho

2 Soporte top case izquierdo

3 Placa porta-equipaje

4 Tuerca M6

5 Tornillo especial TSPEI M6x14
6 Puntal inferior derecho

7 Puntal inferior izquierdo

8 Tapén de goma

9 Tapdn

10  Tapdn

1 Tornillo especial TBEIF M10x45
12 Separador

13 Tuerca M10

14 Tornillo especial TCEIF M8x16
15 Tornillo especial TBEI M8x18
16 Tuerca M8

17 Tornillo especial TCEI M8x35
18 Arandela

19  Separador con collar

20  Sostén enganche delantero
21 Tornillo especial TSPEI M6x20

HhyTr—2~v b
by T r—2A<vvr b
77Ty T L—h
7> b M6

A7 Y 2— TSPEI M6x14
FurHR— by R
fEm7HR—bry R
TN—=RNy T 57—

Xy v/

Fyo s

A7 U a— TBEIF M10x45
A~

7 kb M10

A7 Y a— TCEIF M8x16
A7 Y 2— TBEI M8x18
7> b M8

A7) a— TCEI M8x35
Uy vx—

AT —AfF&E AR—H—
Tay N7y 7Ty b
A7 U a— TSPElI M6ex20

DUCATI

PERFORMANLCE



ISTR 961/ 00

Desmontaje componentes originales

m Atencion

El motory el sistema de escape alcanzan altas temperaturas cuan-
do la motocicleta estd en marcha y permanecen calientes durante
mucho tiempo después de apagar el motor. Para manipular estas
partes, usar guantes aislantes o esperar hasta que se enfrien.

m Atencion

El sistema de escape puede estar caliente, incluso luego de apa-
gar el motor; no tocarlo con ninguna parte del cuerpo ni aparcar
la motocicleta cerca de materiales inflamables (incluidas madera,
hojas, etc.).

Desmontaje grupo silenciadores

Aflojar la abrazadera (B). Desatornillar los 4 tornillos (A1) y quitar
los 4 separadores con collar (A2). Desmontar el grupo silenciado-
res (A). Quitar y recuperar del grupo silenciadores (A) las 4 juntas
antivibrantes (A3).

AU OFILERRDERY S L

m P

TUVUBLIREFY =R NURAT AT, B =Y A T

AT EICE0IEFICERICRY £, Fho oY r )
STHLEIRIRENEREMGEE S, DO TEEE2BZ

mOBRE, REFREEMT D0, ML +2HODDEfF>T
MHBIIoTLLIEEN,

m pE T

TV EEHTH XY — R b=y MIRIROGAERH Y F
o HEMRARNE S FERE L. il A2 AMROARDERED
AR O XTEERE L RN 21 LT ESuy,

AL —azZy FORYSL

7507 B) EHBEOET, 4 KORZ YU 2— (A1) D TH
L, 4 DN T —fF& A_—H— (A2) ZEWVILET, V1L
vih—a=v k(A EERYALET, 4 HOMET N— (A3)
EHA L —a=y b (A) ABEVAL, B LET,

DUCATI

PERFORMANLCE



ISTR 961/ 00

Desmontaje asiento

Introduza a chave na fechadura (C), gire-a no sentido horério e si-
multaneamente pressione para baixo perto do ferrolho para facili-
tar o desengate do pino. Retire o assento (D) dos retentores dian-
teiros, puxando-o para trds.

v—rOERYSL

F—z@ (O ([ZZELIAA, FREHE Y ICE L £, FEFZ, B
EHALRTL T L DIBTE0EL 2 FICMLTTEYS, 71
YA Ry R=nbr—F (D) ZRAM~GIEHLET,

DUCATI

PERFORMANLCE



ISTR 961/ 00

Desmontaje grupo porta-matricula

Para el procedimiento de desmontaje del grupo porta-matricula
(E) consultar las indicaciones del manual del taller en la seccion
“Desmontaje porta-matricula”.

Quitar los 2 tapones (F) y desatornillar los 2 tornillos (G) del sostén
trasero (H).

FoN—TL—FrRILE—a2=y FOEYSL

FrNR=F L= A F ==y & (E) OEYHLIZOWTIEL,
U—ay oo T D [F o R_"—F L — hAALA—DOHY
N OB arEwBRLTIEEN,

2 fHoxv v (F) 0L, 2 KOAZ YV 2— (G) #U7T
777y b (H) MHiEDTHLET,

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montaje componentes kit

n Importante

Controlar, antes del montaje, que todos los componentes se en-
cuentren limpios y en perfecto estado. Adoptar todas las precau-
ciones necesarias para evitar dafios en la superficie exterior de los
componentes donde se debe operar.

Montaje previo tapones soporte del porta-equipaje

Introducir el tapén (10) en el soporte del porta-equipaje derecho
(1), como ilustra la figura. Repetir la misma operacién en el soporte
del porta-equipaje izquierdo (2).

¥ MERRDEY 1

o

IO AT AN T N TOMMIH NN R, TRERRETHD Z &
AHERLET, NEETDEEOIMURE ZEOT RNl &
BRTPHHEEZ > T IES0,

SHYSS YT R TS TORBY 1T
ROE5ic, 797 (0 2k75 90T vr~vrk () Kl

WITTET, EI97vy VT v r=vr b 2) THRROEEZ R
VIELET,

DUCATI

PERFORMANLCE




ISTR 961/ 00

Montaje soporte porta-equipaje derecho

En la parte derecha de la motocicleta, colocar el soporte del por-
ta-equipaje derecho (1) en correspondencia con los orificios deba-
jo del subchasis trasero derecho (L) e introducir el tornillo (14) sin
ajustar. Colocar el separador (12) en correspondencia con el orifi-
cio trasero del soporte porta-equipaje derecho (1), interponiéndolo
entre el subchasis trasero derecho (L) y el soporte del porta-equi-
paje derecho (1). Introducir el tornillo (11), por el lado opuesto, ator-
nillar la tuerca (13) en la rosca del tornillo (11).

Montaje soporte porta-equipaje izquierdo

En la parte izquierda de la motocicleta, colocar el soporte del por-
ta-equipaje izquierdo (2) en correspondencia con los orificios de-
bajo del subchasis trasero izquierdo (M) e introducir el tornillo (14)
sin ajustar. Colocar el separador (12) en correspondencia con el
orificio trasero del soporte porta-equipaje izquierdo (2), interpo-
niéndolo entre el subchasis trasero izquierdo (M) y el soporte del
porta-equipaje izquierdo (2). Introducir el tornillo (11), por el lado
opuesto, atornillar la tuerca (13) en la rosca del tornillo (11).

BI3T7vOI9IIVY FOBY 1T

HOAMTEELET, FITHT77r—4 (L) OFCHD
RICEDLETEIT Py YTy r~wurh () ZEEL, A7V
— (14) ZROMTTICELVIARE T, AT VvV Tvr~ow
b () BEORICAEPET, A=Y — (12) 2HEVT7H 771
—4i (L) LTy Y Ty o~y b () OBICERZGARET,
A7V a— (1) ZELiAH, KRN D A7 Y 2— (11) OFRY
Hzr > b (13) 2R LCiAHET,

EST9OIv IV FOBRY T

HOEBMTIEELES, 2V 77 7L—4 (M) O FRICH
LRICEDRETCET vy Ty s~y b ) ZBEL, A7V
2— (14) ZEROMNTITICELALET, £y T Ty I~y
Y Q) BEORICEDET, AX—%— (12) 2EVTHT 7
L—2& (M) EEZFy VT v~ 2) ORICHEAARE
T, A7 Va— () ZELUIAL, EHURBA 7 U a— (1) @
FUNZF v b (13) 2R UTIARET,

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montaje placa porta-equipaje

Premontar los 4 tapones (8) y las 2 tapas (9) en la placa porta-equi-
paje (3) como ilustra la figura. Posicionar la placa (3) en el sopor-
te del porta-equipaje derecho (1) e izquierdo (2) e introducir los 8
tornillos (5). Colocar el sostén (20) en la placa porta-equipaje (3)
e introducir los 2 tornillos (21). Del lado opuesto, en la parte que
sobresale de los 6 tornillos (5) y de los 2 tornillos (21), atornillar sin
ajustar las 8 tuercas (4).

SHEyTCSwH TL— FOWY T

HDOEHZ, 4 ANy 75y — (8) & 2 flo¥r 7 9) %27
ToTTwrT—k Q) IKEBRYFFLEST, TL—F 3)
RISy T v = (1) EETFYVIv IR
(2) ITREL, 8 ADRAZ Y a— (5) #ELIAALES, TI7
vk 20 IV T v 7T L—F 3) IKEEL, 2 KORY
Ua— Q) #2UALET, KNS 6 KOAZ7 Y 22— (5)
E2ARKDARIY a— 1) DLW, 8 HDOF > b (4) i
DA I LIAR £ T,

DUCATI

PERFORMANLCE



ISTR 961/ 00

10 Nm +10% 10 Nm +10%

;
21 \&

24 Nm £10%

Ajuste tornillos porta-equipaje

Ajustar los 2 tornillos (11) al par de apriete indicado y del lado
opuesto, ajustar las 2 tuercas (13) al mismo par de apriete. Ajustar
los 2 tornillos (14) al par de apriete indicado. Ajustar los 8 tornillos
(5) al par de apriete indicado manteniendo, del lado opuesto, las
8 tuercas (4). Ajustar los 2 tornillos (21) al par de apriete indicado
manteniendo, del lado opuesto, las 2 tuercas (4).

10

SHYTS YL DAY 2 —ORDT

2ARDZZ Y a— (1) ZRED M7 TREDAHT . B E 2
EoF v k (13) ZFELT VY TREDNTET, 2 KOZAZ Y 2—
14) ZHED Fvo TREOMTET, KNS 8 Ho) > k
(4) ZBEFLARNS, 8 KA 7 U 2— (5) ZHED Lo THE
DT ET, OS2 HoF v b (4) AREHELAERS, 2
EDOAZ Y 2— (21) ZHED b7 ThEOAT £,

DUCATI

PERFORMANLCE



ISTR 961/ 00

Montaje grupo porta-matricula FUNR=TL—brRILE—2=y FORY I+

Para el procedimiento de montaje del grupo porta-matricula (E) JF o =7 L —FrFrF—a=v k (E) O FIFIZONTIL,
consultar las indicaciones del manual del taller en la seccién "Des-  VU—2 v a v r~=a2T7 L [F o =T L — RV Z—DERDY
montaje porta-matricula". 171 o7 a2 LTIEIN,

4 DUCATI

PERFORMANLCE



ISTR 961/ 00

12

DUCATI

PERFORMANLCE



Montaje grupo silenciadores

Introducir los 4 aros de goma originales (A3) y los 2 separadores
con collar (19) en el sostén de soporte silenciadores, orientdndolos
como ilustra la figura. Introducir los 2 separadores con collar (19)
en el tapdn de fijacién escape (A4). Montar la abrazadera original
(B) en el grupo silenciador (A), orientandola como ilustra la figura.
Montar el grupo silenciador (A) en la motocicleta, introduciéndolo
en el compensador (N).

Introducir las 2 arandelas (18) en la rosca de los dos tornillos (17).
Colocar el puntal inferior derecho (6) en el grupo silenciadores (A),
como ilustra la figura, e introducir los 2 tornillos (18). Introducir el
tornillo (15), en el lado opuesto, atornillar la tuerca (16).

Introducir las 2 arandelas (18) en la rosca de los dos tornillos (17).
Colocar el puntal inferior izquierdo (7) en el grupo silenciadores (A),
como ilustra la figura, e introducir los 2 tornillos (18). Introducir el
tornillo (15), en el lado opuesto, atornillar la tuerca (16). Ajustar los
4 tornillos (17) al par de apriete indicado. Ajustar los 2 tornillos (15)
al par de apriete indicado manteniendo, del lado opuesto, las 2
tuercas (16). Ajustar la abrazadera (B) al par de apriete indicado.

13

ISTR 961/ 00

ALY —2=y FORY T

4 HOA) CFADTN— (A3) & 2 OB T —fF& A=Y —
(19) =X M T A v —~r 2 b7 Ty MIFEA
LET, 2 ol T —ft&EA_—Fh— (19) 2%/ —R MNEHE
Xy v (A4) IRV ET, VT 707 (B) &
YA oh—a=y s (A) KO XD IZEFT TR HiFEd, ¥
ALY —a2=vF (A) TP — (N) ITHAL CHE@ITE
UESRR-3 28

2 HOU v v— (18) % 2 KDOAZ U a— (17) OXIINSF
ALET, Aor7¥R—rrv K 6) ZHOLI VA Lo —

o=y bk (A) IZEEL, 2 KRORAZ U a— (18) ZELIALE
T A7V a— (15) Z&EZLiAAR, LT v b (16) &4
CiABFET,

2T vy — (18) % 2 ADA Y Y 2— (17) OV ILITHA
LET, a7 rR—ray F 7)) ZzRoOLI AL P—=
=y b (A ITREL, 2 KADORZ ) 2— (18) ZELIALET,
A7 Y a— (15) ZZLiAH, EHUI2 BT > b (16) i CiA&
FT, 4 ROAZ Y 2— (17) ZHED V7 ThEDATES, K
KNS 2 BT > b (16) BRFFLAENL, 2 KORAZ Y a—
(15) ZHED hVvo ThRiOMTET, 7707 (B) = BED b
VT ThEDRT £,

DUCATI

PERFORMANLCE



ISTR 961/ 00

A FY
=

5]

Ebes
!\\\“ﬁ\\\\\\\\\\\\\\\\\\‘ F

Montaje asiento

Asegurarse de que todos los elementos se encuentren correcta-
mente dispuestos y fijados en el compartimiento debajo del asien-
to. Introducir el extremo delantero (D1) del fondo asiento debajo
del alojamiento (P) del soporte bastidor. Empujar el extremo trase-
ro del asiento (D) hasta escuchar el clic del pestillo de la cerradura.
Asegurarse de que el asiento se encuentre fijado firmemente al
bastidor y quitar la llave de la cerradura.

14

v— bOEY FIF

TRTOZ VLAY FBRIELWMLEICHY . >— F FICEESHT

WHZEEERLET, — MNEHORNES (D) 27 L—LA<
7y ROV FINE (P) O FICHALET, ¥—hF (D) O

B E T 7 OWITEN I TF v D ETHLES, Y— IR
TL—AZ Lo EEEINZZEEMHERL, AL —%
REFET,

DUCATI

PERFORMANLCE



L —AEREm &EXE
AN o

1 PN [l
2 PN Bt
3 PN [EERES
4 PN [SEEES
5 PN [EEEE

HER AR

FiF LS L —RAERA#mZE FeeBEmIcEE L. Y—F v FETDHIC
%IJ}EH L/\ - 'Qﬁiﬁ‘:‘i*”ﬁﬁ Li@/\/o

BHHEEES ZDM ETIV&A

BERES THEXH

Ny AT ERR Y bT =V EERAMR

HERRIC LR L —AEAMmERFE L. L—AERESBmDO THBREE
aPAW e LE LT

ARFEIEE S AocH F B =
AR\ SAL

1. LEECEADLE., 7 72—t —)VERETF A.LTL T, FAX : 03- 6692 - 1317
2. ERWUHFE Bl MTTERLIEE,



VIGZL8L96 - 4 ¢ ¥4 <
Gary—4yg iy [ aseddoyajiodos 3y / ased doy oyioddns 3y / 493eH-9seado] 31y / 9sed doj juoddns 31y / 1pj14oddns ased doj / ased doj oysoddns iy

00/ 196 - ¥1SI




HIONVN-GO JdJid="cd

1Lyona

SLX8W SIX8W 1391 8LX8W OUl3Ul OPEARIXSS LU0 SLX8IN M31IS
¢ 13491 —T (1 4% epadss  onuiol  epeneqe eaqed ap osnjeled aqnelyassnqu|-Jdoypuny  8LX8IW DHEIL SIA 8LXg8wW 1391 8LX8W 1391 XA 8EOSYYeLL st
9LXgW oudaiul
[4 9LX8W 9LX8W 41301 OpeAeIXas wod epeabue)y 9IX8W JUB}SydISSUsUU| W 9L X SLXgwW aele/SLLL 7l
41301 —T (i £ epadsa  oniuiol  edupuld e33ged ap osnjeled  agnesydsiapuniz ayasuelyen 8W DHOL SIA M313S 41301 9LX8W 41301 3¥A
4 OLW < £ OLW edtang OLW edlod OLW 491Ny OLw noaa3 nuoLwW OLW opeQ V1200s8YL €l
4 o Jopesedas Jopededs3 3an3szueisig 9s10193Ug J92edg sjeizueisiq  VVLIICLLL96 4
GH7XOLW OUJ23Ul OPBARIXDS
[4 Si7X0LW S7X0LW 41391 wod epeabueyy epejneqe G7X0OLW =gnelyossnqu| S7XOLW M3JDS JELLTeLL LL
41391 — T (1 4% epadss  o)ulo] e5aqed ap osnjeled -jdoypuny ayydsueyan 4OHGL SIA  SEXOLW 4139L  SEXOLW 41391 21A
4 LR XX uode] edwe| SSNYISISA uoyonog bmd odde]  VLS%0%79.6 oL
C LA X uode] edwe| SSNIYISISA uoyanog b odde]  VLOLO%/96 6
snoydinoed
K — L LR\ L ewob ap uode] eyoeuloq op oedwe| uajdolsiwuwing us uodwe]  Ja44nqlagqny ewwob ul suodwe| V1690796 8
N opJainbzi ayaneb Inaugul 0J3SIUIS
L Aoy —f £ nFy Jousyul 1eaund opJanbsa Jouajul a30dng bunzinisqy alajun axul]  loddns ap seig 6n) H7 4omon 2J0119Jul dUoUNg VVLLELLL9G L
N oydalap }oJp IN3auR4ul 04359p
L& Oy — L0y Jousjul 1eaund 03}1241p Joua4ul a1lodng Hbunzinisqy aJ4e3un 23yday  yloddns sp seig B HY 1amon 2J0113Jul sUoIUNg VvL0cLLL96 2
7LX9Y\ OUI3}Ul OPBARIXSS ZLX9W
7IX9W 7IX9W 13dSL 7LX9W 7LX9W
9 LoD e1eYD PpPeaIRISd agnelydsiueysydasuaul| 71IX9N 13dSL YA JE6Y70SLLL o
I3dS1 —T (1 4% epadss  onulol eage) ap osnyeled eizads DHd4LSIA M313S |3dS L
8 9w Y < (£ gy BdJan| 9w B210d gWw 491Ny 9w no.d3 9w 1NN 9w opeg  VVL98LY9/6 7
4 — aledinba sabebeq a1e1d
r AL 4R Lg &gy Lo -erod edeld susbebeqg-eyiod eded 913e1disbelppedsn -ayi0d anbe)d yoes abebbn  jyzdedeyiod eisyseld VVLLELLL96 €
NS opJainbzi oplanbsa ayoneb ased 1loddns 013siuls
L Lay — 4 L& 5 esed doy spiodog ased doy esed ayi0dng J931eH-95e2d0] JaxulT doj np 3ioddng ased dol H7 ased doy oyloddng VVelLLL9G [
NN oydalap 03}241p }04p 9sed 1oddns 04159p
r Lay — 4 £ &4 5 o esed doy syiodog ased doy esed ay10dng J9)eH-95e2d0] J93yday doj np 3ioddng ased doy HY ased doy oyloddng VVBLLLLI6 .

uoleUIWOoUaQ uonneubisag| uonduilsag

suolzeuiwouaq | UIN-UMVY E

00/ 196 d1Sl



VIGZL8L96 - 4 ¢ ¥4 <
Gary—4yg iy [ aseddoyajiodos 3y / ased doy oyioddns 3y / 493eH-9seado] 31y / 9sed doj juoddns 31y / 1pj14oddns ased doj / ased doj oysoddns iy

00/ 196 - ¥1SI




HIONVN-GO JdJH-dH =3cd

1Lyona

7IXOW 7IXOW 13dSL VPO OLLSAE OPBAEEs 7LOW 7IXOW 7LX9W
z L0 B1eYD EPPE3IEISD agnelydsiueysydasuauU| 71LX9W 13dSL 9¥A JETSOSLLL 4
13dS.L —T= ({ 4% 1enadsa  ojulol £35qe 5p OsnyeIeq _erzads JHdH1 SIA M313S |3dSL
N7 0Ja1ue9p uene 1delq 3i013UB
g L&~ 8yduebus uglsos ol123ueIp 23ebUB 3P 23.10dnS bunjddoy a1apion 12608 wmm%owmm_m Bundnod juol4 opuebbe mtEm vVlsslise | Oc
- 1EN02 Je)0d Wwod Jopededs ung W »IN1szuels| DL 1ENO L
v fe— Y R )— L £ u0d lopesedas _ P 3 pung HULOPM +#d e 951033.13U3 ym Iaoeds uod Ielzuelsiq VvigvslalL 6L
17 —A ALk elapuely eyjiuy aqIaydshbayiaiun 9)19puoy I19YSEeAN 211950y V19LO%ZS8 8l
GEXQIN GEX8W |3DL  GEXQW OUISIUI OPEARIXSS LUOD GEXW\ 1UBNSYIasUsUU| M35
v 1301 — T ({ 4% epadsa  opulol  edupuld edaged ap osnjeled W agnelydsIdpunAz - GeEX8IN JHDL SIA GEX8W 13DL GEXSW 131 9IA o88eSlLL £l
4 S8W Y < QW edian| g\ B2J10d SIWYBERRIN] 8\ Nno.d3 8W NN 8w opeq  VVL/8LY9/6 oL

00/ 196 Y18l



